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Question No. 1

What is 1 Dioptre equal to?

A)1cm B)1 mm™!

C)1 dm-" D)1 m™

1 g™eey __ & SEX giar gl

A)1 cm™! B)1 mm-!

C)1 dm! D)1 m!

Answer Key :D Your Response : Not Answered

Question No. 2
Choose the pair in which the words show the same relationship as in the pair given below.

Face : Eye
A)Book : Copy B)Head : Hair
C)Shirt : Pant D)Boat : Sky

39 g7A # g formd e A QU arw geA & @AW waw gAtd gl

g ;3G

A)GEcT: ahidr B)RR: arer

C)ere: de D)aATa: 37T

Answer Key: B Your Response : B (Correct)

Question No. 3
If Rs.750 amounts to Rs.1000 in 5 years, then what will it amount to in 10 years at Simple

Interest?
A)Rs.1500 B)Rs.1250
C)Rs.2000 D)Rs.1750

gfe $.750 &7 TR FTUROT =Ir7 9X 5 auf #F $.1000 g 10T &, dF ITUROT T 9X 10 auf & Ig
Tfr fRasT 8 SATEa?

A)%.1500 B)%.1250
C)%.2000 D)%.1750
Answer Key : B Your Response : B (Correct)

Question No. 4

What is the pH of lemon juice?
A7
Y9




ATg & TH &1 pH A fhaar g2

A)7 B)2.2
C)9 D)5.4
Answer Key : B Your Response : B (Correct)

Question No. 5
Complex carbohydrates which make up cell wall in plants are called-
A)Sucrose B)Cellulose
C)Lactose D)Maltose

et 7 I fAfca &1 Fator & arer e sefesse F Far Far Srar 82

A)gsist B)cfeilet
C)elFeist D)#ATeersT
Answer Key: B Your Response : B (Correct)

Question No. 6
Which of the following does NOT change when a chemical reaction take place?
A)Mass B)Physical properties
C)Volume D)Chemical properties

TaEE AAfEAr g W AFrafaf@a & ¥ a1 J87 seaar §2

A) eI HTT B)gilfcrer agor
C)3maaet D)trEr e ot
Answer Key: A Your Response : A(Correct)

Question No. 7

Arul walks 100 m towards east and then 80 m to his right. Then, every time turning to his left, he

walks 50, 150 and 150 m, respectively. How far and in which direction is he now from the starting

point?
A)70 m, south B)80 m, north
C)100 m, north D)70 m, north

3T g I 3T 100 HeT Tordr § 31 38F a6 I9=AT a8 3 80 #Hey =aar gl i, &7 I’ 3r9«r
9IS R ASI §T, 9§ HAW: 50, 150 AT 150 #HeX ToIam ¥l I9 98 GNP fog @ fraer g7 3R

forar foem # §7

A)70 #Hex, gfer B)80 #HcI, 3cck

C)100 #HieY, 3R D)70 A, 3}

Answer Key: D Your Response : D (Correct)

Question No. 8
Which of the following countries was the host of FIFA World Cup 20187
A)Denmark B)Spain
C)Russia D)Belgium

AFafaf@a & O i ar 2 FIFA 929 &9 2018 T AT &2 AT ?

A)STATH B)TdeT
| — /—l
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Question No. 9
Does the mass of an object vary from place to place?
A)lt varies in high altitudes B)lt varies in hot places alone
C)No, it is constant in all places D)It varies in poles alone

FIAT TRET TET T GeTHATT 3eTIl-37eleT AT W ¥ grar §?

A)TE TS Fas W e 8Iar gl B)Jg shad IH TART H B glar Bl
C)eTél, g% &l Serel W &R @ Bl D)aE Fael gat F et g ¥
Answer Key: C Your Response : C (Correct)

Question No. 10
Find the ODD one out from the given options.
A)38, 18 B)35, 15
C)83, 63 D)36, 12

G 717 Rewedt & & e & oA

A)38, 18 B)35, 15
C)83, 63 D)36, 12
Answer Key: D Your Response : D (Correct)

Question No. 11
Which of the following parts are cleaned using ultrasound?
A)Simple parts B)Easy to reach parts
C)Hard to reach parts D)Big parts

frFafei@d & & fhel qoil &1 eeMEs &1 3Udler &a A% fHar Sirdr §7?

A)STEROT Iof B)3TAT g dTel o
C)hfSsT aga arel gof D)SS 3R & of
Answer Key: C Your Response : C (Correct)

Question No. 12
A pipe P can drain out water from a tank in 20 hours. Another pipe Q can drain 20 litres per hour.
If both drains are opened, the tank is emptied in 12 hours. What is the capacity of the tank?
A)600 litres B)800 litres
C)400 litres D)650 litres

T&H qisY P, 20 6¢ # vF &F ¥ Q@ 9 [AF @Fhar €1 UF w7 9rs9 Q, wfa € 20 ey oarEr
et @oar &1 afe St usul & @ ear Jar &, ar &F 12 "el & wrelr g Srar g1 & fr
&TAAT ATd HIfST|

A)600 ofex B)800 @ex
C)400 ofiex D)650 @liex
Answer Key : A Your Response : Not Answered

Question No. 13
If the volume of a sphere is divided by its surface area, the result is 27 cm. Find the radius of the
sphere.

ANQ21 ~Arm

Iy /
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TEH Al & HAAA T 3TF IS &A% § fFoford fFw e 9¥ 3eax 27 @A yred g g1 oA
FHr AT ATT FIST]

A)81 J# B)27 d#r
C)243 3+ D)9 &=
Answer Key: A Your Response : A(Correct)

Question No. 14
Which of the following is more environmental friendly?
A)Burning of charcoal B)Burning of wood
C)Burning of diesel D)Burning of coal

frFafafea & & @i a1 giawor & 3R g §?

A)GTRal & Il FT STolal B)elehsT T STeleAl
C)3rSTel &7 STofelT D)ahlIel &l STelAT
Answer Key: A Your Response : B (Wrong)

Question No. 15
If 12 men and 6 boys can do a work in 4 days and 4 men and 14 boys can do the same work in 8
days, find the ratio of efficiency of a man to that of a boy.
A)2: 11 B)2:5
C)3:7 D)11:2

gfg 12 ey 30T 6 oss el #d &1 4 Gal d a5 d9ha ¢ 3R 4 929 3R 14 o5dh 36 wH & 8
f&at & #X @hd &, o TP MEHT AR TH T5h T &THAT 1 IAUTA AT HifCl

A2 : 11 B)2 : 5
C)3:7 D)1 : 2
Answer Key: D Your Response : D (Correct)

Question No. 16
A watch reads 4:30. If the minute hand points east, in what direction will the hour hand point?
A)North east B)South east
C)North west D)North

T "3 4:30 HT GHI AT g1 FfE fAae arell g3 q@ &7 30T Mg axdr g, ar we arel g3 fae
fgem # grf?

A)3ceR qd B)zfator qd
C)3cak UiRaH D)3cX
Answer Key : A Your Response : A(Correct)

Question No. 17
From the set of prime numbers between 50 and 100, how many pairs of prime are there that add
up to a prime number?
A)2 B)O
C)3 D)1

[ I s T T2 i rm AT B s B e w4



A)2 B)0
C)3 D)1

Answer Key: B Your Response : Not Answered

Question No. 18
Which word will best complete the relationship given below?

Fire : Ashes :: Explosion : ?

A)Sound B)Debris
C)Explosive D)Flame

Sl T g AT QU a0 HIY HI Hafead T F qOT HIAT?

T W c: faTwie o ?

A)eafa B)#eTaT
C)aTwiesh D)ett
Answer Key: B Your Response : B (Correct)

Question No. 19
In this question, a statement is given followed by three conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
U=V<W<sZ

Conclusions:

. W>U
I.Z>U
. z<u
A)Only conclusion lll'is true B)Only conclusions Il and lll are true
C)Only conclusions | and Il are true D)Only conclusions | and lll are true

g6 U A, HU fGFT 7wAT § fowe a1 e say fev atw §) 39 ey & (3A fAsest #) g6
S dTfés &7 & Fa@ 3UFA B

hod:
U=V <W-=</Z

IGACAR

. W>U

.z > U

. z < U

AYraa Esay (1l TEr g1 B)aad fassy 1l 3R 11l TEr &1
C)&aer fasay | 3R I @dr &1 D)aael fasay | 3R 11l @Er §l

Answer Key: C Your Response : Not Answered

Iy
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A)10 B)11
C)13 D)15

ggeil 10 HARTT fava TEIAT HT ATEA(mean) ATT HiToIT|

A)10 B)11
C)13 D)15
Answer Key: A Your Response : A (Correct)

Question No. 21
Which word will best complete the relationship given below?

Cube : Square :: Square : ?

A)Triangle B)Line
C)Point D)Arc

HiT &1 Asg AT fEU a0 Haer &1 WafeddA 1 § qoT Ham?

ge ;g9 ;g ; ?

A)TegsT B)¥@r
C)idg D)arg
Answer Key: B Your Response : B (Correct)

Question No. 22
(225 + 226 + 227 + 228) s a multiple of which of the following numbers?
A)15 B)11
C)9 D)7

(225 + 226 + 227 + 228) farsfafd & @ fha @EIAT & JUTS §?

A)15 B)11
C)9 D)7
Answer Key : A Your Response : A(Correct)

Question No. 23
Pratyush is India's most powerful petaflop super computer which is used in-
A)Critical surgery B)Weather and climate predictions
C)High precision manufacturing D)Scientific calculations in rockets

TV, WA T FIH ATFAATT JeTFelld I Hege §, o sogqher __ T STar gl
A)TTAR e Rifecar # Bl Ud Solarg & qalogAEr H

C)3=a uRegar fafasor D)ihe # d=ifedeh 0T e H

Answer Key : B Your Response : B (Correct)

Question No. 24

o o
. a- b
Find the square rootof —+—5+2.

b’ a

TR R e Y SN ) SR S



vy}
o

a-b a’r

2 b a
C) D)

ab a b

b a 2b 2a

3.2 2

E?+_§+Qawaﬁ@q3m7£ﬁ?m

a

A) B)

ﬂ a .

2 b a
C) D)

ab a b

b a 2b 2a
Answer Key: B Your Response : B (Correct)

Question No. 25
Rahul ranked 16th from the top and 29th from the bottom among those who passed the
examination. Six boys did not participate in the examination and five failed. How many boys were
there in the class?
A)55 B)50
C)40 D)49

I@Wﬁmﬁzmﬂv‘rmwmﬁaﬁé@16é3ﬁ¢a‘1—n‘rﬁzgéwmwélwagaﬁ#rqi‘rém
H grar AT AT 3T gt 3w || Fwer # fhde ds% A7

A)S5 B)50
C)40 D)49
Answer Key : A Your Response : A(Correct)

Question No. 26
Find the CORRECT statement(s).
(i} Like fractions have the same numerator.
(ii) If the numerator and denominator are coprime, the fraction is in its simplest form.
(iii) Fractions cannot be compared.
(iv) A fraction can have any number of equivalent fractions.
A)Statement (ii) only B)Statement (i) only

oo T L o P TRV, (bt R G 9 TN () ST =5




TG FYUA &l AT HIfC|
(i) g fReaAT & 379 AT g &1

(i) Ifg 37w 3T gX 3AeH=T &, df Fed 39 TXoldH &7 H gl
(iit) TO==TT T JoraAT FAET HT ST Fhll|

(v) & e & #Aged foradr off foea g g 81

A)Rad HUT (i) B)ehadl YT (i)
C)adhael AT (i) D)sder &Y (ii) 3R (iv)
Answer Key : D Your Response : Not Answered

Question No. 27
If the numerator of a fraction is increased by 100% and the denominator is increased by 150%,
then the fraction becomes 16/25. What is the original fraction?
A)5/12 B)4/5
C)7/12 D)5/6

Ife foredly e & 3ier & AT A 100% H1 Jig AT STl § A g & AF # 150% Hr Jhg HT S
g, dr = &1 A 16/25 g Jar g1 7o fea A Hiew

A)5/12 B)4/5
C)712 D)5/6
Answer Key : B Your Response : B (Correct)

Question No. 28
Find the missing numbers in the following series.

2,7,23,(...), 220
A)70 B)72
C)46 D)21

fFEAfafea Aot & guifeya gear A hifav]

2,7, 23, (...), 220

A)70 B)72
C)46 D)21
Answer Key : B Your Response : Not Answered

Question No. 29
Number of valence electrons in Cl™ ion is:
A)18 B)8
C)16 D)17

CI3maa & IS SoFcidl $H JEAT THasr aldr &2
y Toare N ae——— |




Answer Key : B Your Response : Not Answered

Question No. 30
Which information is conveyed by a balanced chemical equation?
A)The respective formulas of the reactants andB)The respective masses of the reactants and
products products
C)The total number of molecules involved in theD)AIl of the options
process

o

T IS THGRIOT caRT hy ISR H cgFd fhar Sirdr g7

A) 3R 3R 3carel & defaT @ B) &Rl 3 3curel & Hafta gegdneT
C)afsrar & enffer 313t T el TEaT D)fdsedr # & |l
Answer Key:D Your Response : D (Correct)

Question No. 31
A and B take part in a 100 m race. A runs at 5 km/hr. A gives B a start of 8 m and still beats him
by 8 seconds. Find the speed of B.
A)4.20 km/hr B)5.15 km/hr
C)4.14 km/hr D)4.25 km/hr

A 3T B fdEY 100 #Hiex $r ez & amer g &1 A, 5 fHeAyger & arar & cigar &1 A, B &1 8 #Hiet
$r TS ded gar & 3T T ff 39 8 Ths T & &ar &1 B &) 1o foraAT 87

A)4.20 fereeer B)5.15 freli/eer
C)4.14 Trav/Eer D)4.25 fereli/erer
Answer Key: C Your Response : Not Answered

Question No. 32
Which day was observed as 'Swaraj Day' in Indian history?
A)August 14, 1947 B)January 26, 1950
C)August 15, 1947 D)January 26, 1930

R sfagra & few fga &1 'Taer @' & 9 &F FA™IT SATAT 872

A)14 3ETET , 1947 B)26 SieTery, 1950
C)15 311Ea , 1947 D)26 SfeTadr, 1930
Answer Key : D Your Response : D (Correct)

Question No. 33
Read the following information carefully and answer the question given below.

J, P, Q, R, S, T, U and V are 4 married couples sitting in a circle facing the center. The
professions of the males within the group are Lecturer, Lawyer, Doctor and Scientist. Among the
males R (the Lawyer) and V (the Scientist) are sitting together. Each man is seated beside to his
wife. U, the wife of the Lecturer is seated second to the right of V, and T is seated between U and
V. P, the wife of the Doctor, is seated to the immediate left of the Lawyer's wife. Q is not the

doctor. S is a male, and J is a female.

Who sits between

Pl P N S T L e P R . R TR R e ) N ) =



farafofaa e & &I I u¢ 30 = U v 9T &7 3ca} &

J, P, Q R, S, T, U3V, 4 fqaifed s1s, T ged # &g &I 3T Hg h 95 & dqg # aifdve
qENT &1 SYGHMT FaFdl, gehrel, sigey T derfers §1 gest # R (I 3T V (dArfaw) s Ay
95 &1 9cAF GO YAl YAl & T H doT gl AFuI H Ueedl U, V & &S 3T W TAT R IS
g, 3T T, U3t VE i A S &l siFel &Y Tcadl P, ghiad $T Il & 31 a5 30T 387 &1 Q
sfecy gl §1 S U& TV §, iR J s Afger g

V 3T J & fig & T Ser §7

AT B)Q
C)u D)R
Answer Key: D Your Response : D (Correct)

Question No. 34
In a certain code, 15789 is written as 'EGKPT' and 2346 is written as 'ALUR'. How is 23549
written in that code?
AYALEUT B)ALGRT
C)ALGTU D)ALGUT

T ARET FHewm &, 15789 &1 'EGKPT' fa@r sirar § 3T 2346 &1 'ALUR' fa@r sirar g1 3@
HeHTST # 23549 H Ha fo@r SrAa?

A)ALEUT B)ALGRT
C)ALGTU D)ALGUT
Answer Key :D Your Response : D (Correct)

Question No. 35

A sum of money lent out at a certain rate of Compound Interest,
compounded annually, amounts to Rs.1460 in 2 years and to
Rs.1606 in 3 years. Find the rate of interest.

A) B)

11% 8%

C) D)

10% 12%

MY /
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9fa a¥ asrgie =a1sT I v AfRed @7 W 3uR & s A, 2 auf
H 71460 AT 3 Iu 7 71606 g1 JAEr g1 =I7eT & AT e

A) B)
11% 8%
C) D)
10% 12%
Answer Key:C Your Response : C (Correct)

Question No. 36
Which of the following is the greatest?
A)34/35 B)15/16
C)19/20 D)24/25

frafof@a & ¥ a9 a1 gad a91 §72

A)34/35 B)15/16
C)19/20 D)24/25
Answer Key: A Your Response : Not Answered

Question No. 37
A continuous conducting path consisting of wires and other resistances, a switch, terminals of a
cell along which the current flows is called-
A)Loop B)Circuit
C)Path D)Connection

arR, 3T 3=y iRy, fag, 6 ad & cfAadl & Fae 99 T @dd UREEr #A6ET, 5aJd @ gax
YRT Tarigd gidl &, 39! FIT FHgl AT 872

A)TTI (o[T) B)uRRaer
C)AET (Path) D)dqH
Answer Key : B Your Response : B (Correct)

Question No. 38
Read the following information carefully and answer the question given below.

Six boys—M, N, O, P, Q, R and six girls—U, V, W, X, Y, Z are standing in rows in such a way that
each girl faces one boy, not necessarily in the same order. U is to the immediate right of the girl
who is facing Q the boy at the extreme right. Only N is between P and Q. R is to the immediate
left of M and to the immediate right of O. W is facing M and is to the immediate left of V. Z is third
to the left of X.

a0 T L I e ST R ol TR T i i o vl



C)Z D)X

frafofaa Saa & &I  9¢ 3T A T I 93T &7 3ca} &

g @sh- M, N, O, P, Q, R 3T ©g asfal- U, V, W, X, Y, Z 9fFaal & 59 uvsR @3S § &
ST my‘ﬁ@«%@f&ﬁtﬁgﬁg@&ﬁaﬁ%sﬁmﬁﬁlU3¥ra3ﬁ$mar§
IR, SN & R W TS &5k Q H AR 7g FI gU gl Faa N, P IR Q & i # &I R, M &
& a1¢ I R M O & A &g 3’ F W, M # 3R A BT gT R IR V& AF 918 3% ¥ Z,
X & g 30T F fE TUE W T3 ¢

frafaf@a # & Fiad & agdr P AT 30T Az 5T gu §?

A)Y B)V
C)Z D)X
Answer Key:C Your Response : C (Correct)

Question No. 39
The amount of sound energy passing each second through unit area is called-
A)Pitch B)Music
C)Intensity D)Note

9fd Ahs FhIS &F ¥ oA dTell €afel Feil T ATHT I FIT Hgl ST §?

A)fa=r B)&efa
C)drerar D)dle
Answer Key: C Your Response : Not Answered

Question No. 40
Complete the series.

20, 32, 45, 59, 74, (...)

A)95 B)79
C)90 D)85
Aoft &l gIr FHL

20, 32, 45, 59, 74, (...)

A)95 B)79
C)90 D)85
Answer Key: C Your Response : C (Correct)

Question No. 41
What is a variable resistance used in a circuit usually operated by a sliding contact on a long coil
of resistance called?
A)Rheostat B)Resistor




ot IR9Y # ggFa 3@ gRad! TR @I FIT Hgl ST §, ST IR &1 Teh ofdl Hzell qX aferfier
T9% SaRT Hdifeld gidr 87

A)RarEeT B)ufaier
C)Rag D)der
Answer Key : A Your Response : A(Correct)

uestion No. 42

If '+' means 'X', '-' means '+', 'xX' means '+' and '+' means '-' , then, 3 x2+4-2+9=7
A)-1 B)-2
C) D)3

IfE '+ FT AdAT X' ¥, - F AGAS '+ §, X F AdeS '+ M+ FT Aded SR, A, 3 x 2 + 4 -
2+9=27

A)-1 B)-2
C)1 D)3
Answer Key : A Your Response : A(Correct)

Question No. 43

In Global Innovation Index rankings 2017, India has securedthe _  position.
A)50th B)60th
C)40th D)70th

dfRas FaraR ga®ie IR 2017 #, sRT A TATT yrcd forar Bl

A)50ar B)60ar
C)40ar D)70at
Answer Key : B Your Response : Not Answered

Question No. 44
An alloy is a/an-

A)Compound B)Homogenous mixture
C)Heterogeneous mixture D)Element

s emq wes __ gl

AR B)HATRM fAs0r

C)favamfr fFsmor D)da

Answer Key : B Your Response : C (Wrong)

Question No. 45
Which of these sets of numbers are in continued proportion?
(i) 0.4, 3.6, 3.24

(i) 7, 21, 63

(iii) 2.4, 9.6, 38.4

A)(ii) and (iii) B)(i) and (ii)
C)(i), (ii) and (iii) D)(ii) only

HEII3 & g @HQl A @ Hie & Fdd 3G (continued proportion) #H g2
TrlEee T N ne——— |




(i) 7, 21, 63

(iii) 2.4, 9.6, 38.4

A) (i) 3R (i) B)(i) 31 (i)
C)(i), (i) 3 (i) D)ahaer (ii)
Answer Key : A Your Response : C (Wrong)

Question No. 46
If 351 means 'students like maths'; 197 means 'we are students' and 748 means 'they are parents’,
what is code for the word 'we'?
A7 B)8
C)1 D)9

gfg 351 &7 #Adad 'students like maths' & 197 &1 #Adad 'we are students' 3iT 748 &1 AdaS
'they are parents' §, dl ThaaT #Adea 'we' gIT?

A)7 B)8
C)1 D)9
Answer Key: D Your Response : D (Correct)

Question No. 47
Pipe P is twice as fast as Q, and Q is twice as fast as R. Find the ratio of the time taken by P, Q
and R to fill a cistern.
A4 :1:2 B)4:2:1
C)2:1:4 D)1:2:4

qisd P, Q & QAT d9f 8, 3MT Q, R & AT df 81 P, Q 3 R g@RT Tsh CH &I A A eorad
arel AT 1 3T AT P

A4 :1:2 B)4 :2:1
C2:1:4 D)1:2:4
Answer Key: D Your Response : Not Answered

Question No. 48
The traditional harvesting festival celebrated in Assam is-
A)Pongal B)Bohag Bihu
C)Tusu Parab D)Makar Sankranti

3IEH FH AT ST Tl RIS FHA HE[S 3cqd Hid AT 872

A)diaTer B)sereT fog
C)eq e D)Ae Tshifc
Answer Key: B Your Response : B (Correct)

Question No. 49
A father has a 12 year old son. He was thrice his son's present age when the son was born. How
old is the father now?
A)40 years B)60 years
C)46 years




T T &1 UH 12 a¥ # qF g1 YT F SwH & AT A AT G, T H qAAA G AT oAer &Y
oYl Toar 1 adareT g farasr §?

A)40 a¥ B)60 a¥
C)46 T D)48 a¥
Answer Key:D Your Response : D (Correct)

Question No. 50
Simplify: 1/(cosec 8 - cot 8)
A)cosec 6 + cot 8 B)sin 6 + cos 6
C)cosec? 8 + cot? 6 D)cosec 6 - cot 6

Wl AT 1/(cosec 8 - cot 6)

A)cosec 6 + cot 6 B)sin 6 + cos ©
C)cosec? 6 + cot® 0 D)cosec 6 - cot 6
Answer Key: A Your Response : A(Correct)

Question No. 51
A grandfather and his granddaughter have their ages in the ratio 9 : 2. Sum of their ages is a
prefect square. The difference in their ages is a multiple of 11. What are their ages?
A)95, 25 B)90, 20
C)99, 22 D)72, 16

T GIGTell 3T 3T Oicll &1 31 &1 Igard 9: 2 g1 3AhI g &1 AT T qoT Tl HE&IT g1 3oAhr
3MY &1 X 11 HT OIS g, dF IAH 31 Al HITC]

A)95, 25 B)90, 20
C)99, 22 D)72, 16
Answer Key: C Your Response : C (Correct)

Question No. 52
How many electrons are there in the outermost shell of carbon?
A)3 B)5
C)6 D)4

FIel & AT A A fhasl Foacled gld 87

A)3 B)5
C)6 D)4
Answer Key: D Your Response : D (Correct)

Question No. 53

Two successive discounts on the labelled price of Rs.6000 reduces the sale priceto _ , if the

discounts are 10% and 20% successively.
A)Rs.4320 B)Rs.4000

C)Rs.4230 D)Rs.4200

%.6000 & el Hed W &l HAET Fel HiT dolg d [T Fed gl gl 1T g, IfE 10%

3T 20% T HiAS T & 75 B

ANT ADNN

TR R e Y SN ) SR S



Answer Key : A Your Response : A(Correct)

Question No. 54
In which parts of the plant photosynthesis takes place?
A)Branches and trunk B)Roots and root sap
C)Leaf and other chloroplast bearing parts D)Leaf and stem

TehTer oWuT gy & foryg mer & giar g7

A)Qm@MT 3R doF B)sigl 3R 8 & W A
C)dcel 3N FoRICaFe HT Hisigal dle 3 ae #  D)uech 3R o &
Answer Key:C Your Response : C (Correct)

uestion No. 55

Find the standard deviation of the first 'n' natural numbers.

A) B)
n -1 n(2n+1)
12 3
C) D)
n(n+1) n+1
12 6

YUH 'n' Wepldsh HEIIHT HT HIeeh [adelst AT B

A) B)
n—1 n(2n+1)

12 3

C) D)
2
nin+1) no+1

12 6

Answer Key: A Your Response : Not Answered

Question No. 56
The top of pistil in a flower is termed as-
A)Stigma B)Stamen
C)Pollen




T # TR & MY AT HT FIT FHET ST 87

A)afdemEr (Reaam) B)geheR
C)wreT DI
Answer Key: A Your Response : C (Wrong)

Question No. 57
Find the ODD one out from the given options.
A)Heart B)Ear
C)Eye D)Nose

fgu a1 fashedl & q HITT H oA

A)geT B)&1eT
C)3ir@ D)sTh
Answer Key: A Your Response : A(Correct)

Question No. 58
Three of the following four of alphabets and numerals have the same relationship between their
elements as in the case of the pair PRIVATE : 8734265 and hence form a group. Which of the
following does not belong to the group?
A)PRATE : 87465 B)PAVER : 84257
C)TAPER : 64852 D)VIPER : 23857

farafai@a ok & @ da & @Rl T et & dra dwr & de9y g, Sm TR ggA PRIVATE:
8734265 # ¥ 3N 30 YR UH WHAE dad ¢l rafaf@d & ¥ #i7 a1 38 afg ¥ @afaa 78 §?

A)PRATE : 87465 B)PAVER : 84257
C)TAPER : 64852 D)VIPER : 23857
Answer Key: C Your Response : Not Answered

Question No. 59
If south becomes south east and north east becomes north and so on. What will be the south west
and west become?
A)South and south west B)East and north east
C)West and east D)North and north west

gfg fgior sgoet gfaior qd 3iY 3eoR qd sgaey 3ca) 8l ofar &, 30T sl oiE @el feend agorl
g1 cfaor gfRgs 3T afew & Ty @ =i O feame gief?

A)eferor 3R gferor afas B)qd 3R 3ok &
C)ufRas 3N qa D)3ceR AR 3cax afRas
Answer Key: A Your Response : A(Correct)

Question No. 60
Which of the following is a milk protein?
A)Galactose B)Rennin
C)Glycine D)Caesin

rafafad & & a9 a1 gu &1 9= g2

AN o = T IR A T R Oy 3 e Y




Answer Key:D Your Response : A (Wrong)

Question No. 61
A homologous series is a series of carbon compounds that has-
A)Different number of carbon atoms and contain theB)The same numbers of carbon atoms and contain the
different functional group same functional group
C)Different number of carbon atoms but contain theD)The same number of carbon atoms but contain
same functional group different functional group

o AofY, Fee FfFHT it vaw T Ao § e |
A)ITST 3eFT HEIT & HNel AT Y€ S g, ARB)HAW F&am # el WA 90 S g, 3R TR

C)31edT 3ol HEAT H Hed WAV UIT S g, fhedD)THA HEIT # Hieel WAT] 9T S g, foheq 37omr-
TAGT HTcHS HHE 9V Sd § [T FAlcHe FA 9T ST &
Answer Key: C Your Response : Not Answered

Question No. 62
The liver oil of fish is rich in-
A)Both Vitamin D and vitamin A B)Vitamin E
C)Vitamin A D)Vitamin D

ASE! & olax 3T (liver oil) & gL AET H grar B

At faerifde D 3R erf@s A B)fde1f@s E
C)faarfd=r A D)ei@sr D
Answer Key : A Your Response : D (Wrong)

Question No. 63
Loss of water from the leaves of a plant through stomata is called -
A)Expiration B)Perspiration

C)Suspiration D)Transpiration

aier s afcadt & Aise T & ATCTA A g drell STl Bl I FAT Hel STl §7?

A) e 28T (Expiration) B)UEde+(Perspiration)
C)3TarsT & &I 29dsT(Suspiration) D)arsutcHst=T(Transpiration)
Answer Key : D Your Response : D (Correct)

Question No. 64
The path followed by a projectile is called its -
A)Territory B)Trajectory
C)Translatory D)Treasury

T YaicT(projectile) GIRT Tel T T2 HI FAT FHgl SATAT 872

ARl Bl
C)giReler D)eeRY
Answer Key : B Your Response : B (Correct)

Question No. 65

/

I = T P R R R O Y W )



In a A ABC, 4B = 90° AB = 5 em. Construction of A ABC is not
possible if BC ~ AC =

A) B)

2.5em 4.8 em

C) D)

6.5 cm 4 em

A ABC H SRIUTB = 90°, AB = 5 9HI| A ABC R & 999 8T &

afg BC ~AC = I
A) B)
2.5 AT 4.8 THT
C) D)
6.5 THT 4 AT
Answer Key: C Your Response : Not Answered

Question No. 66
______is an aperture which controls light passage in the eye.
A)Blind Spot B)Sclerotic coat
C)lris D)Pupil

U gdR& (aperture) &, St 3@ & Uhrer & ART & fAIf¥a wwar g

A)3fer g (Blind Spot) B)TFoRICH Hic
C)amsRa D)gcfelr
Answer Key: D Your Response : C (Wrong)

Question No. 67
A train 110 m long is running at a speed of 60 km/hr. In what time will it pass a man who is running
at 6 km/hr in the direction opposite to that in which the train is going?
A)7 seconds B)10 seconds
C)6 seconds D)5 seconds

Iy

o TR L O B TR, TR R e Y e



A)7 THs B)10 @3
C)6 W&s D)5 @S

Answer Key: C Your Response : C (Correct)

Question No. 68
Who among the following won the Men's 1500 metres race in the Jakarta Asian Games 20187
A)Manijit Singh B)Neeraj Chopra
C)Jinson Johnson D)Tejinderpal Singh Toor

STeRTel TRIATS Wel 2018 & faraAfaf@d & @ forde gevi &1 1500 #He &1 gl Sfch?

A)Fsia &g B)eReT @uar
C)Seaa SleTaeT D)aifsiexdrer g T/
Answer Key: C Your Response : D (Wrong)

Question No. 69

Water existsas __ in its solid state.

A)lce B)Steam

C)Foam D)Clouds

et g @EAr HF F T H 9rIT AT Bl

A)TH B)arsq

C)smeT D)sieer

Answer Key : A Your Response : A(Correct)

Question No. 70
What is the minimum voting age for women in India?
A)Twenty-one B)Twenty-two
C)Sixteen D)Eighteen

R & Afg13l & [T AdeT &7 =gAdH 31Y FIT &7

A)sFhrT B)a$T
C)drerg D)316RE
Answer Key: D Your Response : D (Correct)

Question No. 71
Which of the following ratios is the largest?
A)2:3 B)5:7
C)3:5 D)3:4

fFafafa & & @l a1 Ig9d §98 37 &7

A2 :3 B)S : 7
C)3:5 D)3 : 4
Answer Key: D Your Response : D (Correct)

uestion No. 72
If '+' means 'X', '-' means '+', 'X' means '+' and '+' means '-' , then, 8 x4 -6 +3+1 =7
A)-1

TR R e Y N ) S S



IE '+ & AT X' §, - B AdT '+ §, X' B Adeld '+ T '+ & Adelw ' §, dL, 8 x 4 -6 +
3+1=7

A)-1 B)5
C)4 D)2
Answer Key: B Your Response : B (Correct)

Question No. 73
Which word will best complete the relationship given below?

Jungle : Zoo :: Sea : ?

A)Water B)Aquarium
C)Fish D)Harbour

HidT AT g A GU TT FIY HI Fafeadd &1 F qUT HIAT?

Sarer ;- RfgTET o o@HEg ;2

S

A)YTtT B)udFaRI#
C)ATe B)ECRE)
Answer Key: B Your Response : B (Correct)

Question No. 74
In which of the following amendments of the Constitution of India was Delhi designated as
National Capital Territory (NCT)?
A)69th Amendment Act B)74th Amendment Act
C)63rd Amendment Act D)76th Amendment Act

HR dfaue & FFET 7 F oy dmua garr el @ Isdy UaurET &7 (NCT) &1 gar fgar
IgT Agq1?

A)69d TR AT B)74d WRitra 3fafaTs
C)63d Wit T D)76d TRt e
Answer Key: A Your Response : D (Wrong)

Question No. 75
Jhelum, Chenab, Ravi, Beas and Sutlej are the tributaries of-
A)Brahmaputra B)The Indus
C)Ganga D)Yamuna

Sord, e, 6, ST 3R Heode T ggrms afear g1

A)SEHAIT B)fere
C)3r=m D)I &1
Answer Key : B Your Response : B (Correct)

Question No. 76
Where is Diffo Bridge located which was recently inaugurated?
A)Maharashtra B)Andhra Pradesh
C)Arunachal Pradesh D)Karnataka

TR R e Y SN ) SR S




A)HERTSE B)31er weer
C)31%UTraeT Weer D)&siTeesh

Answer Key: C Your Response : Not Answered

Question No. 77
Which of the following diseases is NOT immunised by triple antigen?
A)Typhoid B)Whooping cough
C)Diptheria D)Tetanus

farafaf@a # & «la a1 o1 fgua e garr gfaxfarg a8 8§72

A)ATT AT (TEHISS) B)arell @iEr
C)feeifiar D)feead
Answer Key: A Your Response : A (Correct)

Question No. 78
Pepsin is an enzyme secreted in the-

A)Liver B)Mouth

C)Kidney D)Stomach

aftde __ #H arfad glel arer Ue TSSH ol

A)Tehd B)&E

C)arer D)3THRRT

Answer Key :D Your Response : A (Wrong)

Question No. 79

Simplify: 1035 +[%(71 + 65)-152]
A) B)
18 20
C) D)
12 24

TT F: 1035{%(71 +65)-15%]

18




C) D)

Answer Key: C Your Response : C (Correct)

Question No. 80
Find the missing group of alphabets in the following series.

BB, ET, HR, KP, (...), QL
A)PQ B)NN
C)QP D)UV

fFafafaa 4ot & segufeyd seR-awg ATd Hisw|

BB, ET, HR, KP, (..), QL

A)PQ B)NN
C)QP D)UV
Answer Key : B Your Response : B (Correct)

Question No. 81
has been awarded with the Padma Bhushan award in 2019.

A)Ashok Laxmanrao Kukade B)Dr. Bhupen Hazarika
C)Pranab Mukherjee D)Balwant Moreshwar Purandare
2019 # P I YU WEFR F FFATd fohar arar g

A)3RN1F TEAURIE Fhs B)3T. #ueT FolRenr

Cysorar it D)Feda AR THEX

Answer Key: A Your Response : A(Correct)

Question No. 82
Substances whose odour changes in acidic or basic media are called-
A)Both acidic and basic indicators B)Acidic indicators
C)Olfactory indicators D)Basic indicators

VY Ty, fSadhr 1Y FT AT R ATETH H dco JATdl §, 376 FAT Hel SIrdr g2

A)IFTT 3R &R Faeh et B)31FlT g
C)enmoT gah D)aTRT g
Answer Key:C Your Response : C (Correct)

Question No. 83
In which of the following cities is the Indian Institute of Petroleum situated?
A)Kochi B)Kandla
C)Visakhapatnam D)Dehradun

T P N o TR TR G VN ) S <




sfsas sfeveeye 3w Ucifods sad & & forg Wt # Rya g2

A)FiT B)a&igel
C)faemr@magH D)&aiget
Answer Key : D Your Response : Not Answered

Question No. 84
Which of these is directly proportional to potential difference?
A)Resistivity B)Power
C)Current D)Time

$TH ¥ dieT AR & FAGICAT &lar §?

A)gfaiererar B) e
C)urT D)aHA
Answer Key:C Your Response : C (Correct)

Question No. 85
Which of the following vitamins helps in normal clotting of blood in human beings?
A)Vitamin K B)Vitamin D
C)Vitamin C D)Vitamin A

rafofaa § @ =g o Aefaa aal & T & g5 F780 T gGE=T 9iHar § #Jce Hdr g7

A)fdafaa K B)f@erf@s D
C)faarfasT C D)facifasT A
Answer Key: A Your Response : A(Correct)

Question No. 86
Complete the series.

5,7, 25, 49, 125, (...)

A)346 B)625
C)245 D)343
Aol & AT H

5, 7, 25, 49, 125, (...)

A)346 B)625
C)245 D)343
Answer Key: D Your Response : D (Correct)

Question No. 87

Complete the series.

2,5,10, 17, (...)
A)29
C)27




Aoft & g FH

2,5, 10, 17, (...)

A)29 B)21
C)27 D)26
Answer Key : D Your Response : D (Correct)

Question No. 88
On selling 17 balls at Rs.720, there is a loss equal to the cost of 5 balls. What is the cost price of
a ball?
A)Rs.45 B)Rs.40
C)Rs.60 D)Rs.55

17 el 1 3.720 # 99 X, 5 el & HT Hed & SREX Sl glisl gldl gl Teh 3G &1 HT Hed A
FHIfal

A)%.45 B)%.40
C)%.60 D)%.55
Answer Key: C Your Response : C (Correct)

Question No. 89
The unique property of carbon to form bonds with other atoms giving rise to large molecules is

known as-
A)Ductility B)Induction
C)Malleability D)Catenation

93 A’ Sl & fIT 3T AN & WY U AT & el & IEIIAT 0T HI FAT FHYl ATl 72

A)dstsrelierar (Ductility) B)WROT (Induction)
C)3mardatisi=zrar D)#&elT (Catenation)
Answer Key :D Your Response : D (Correct)

Question No. 90
If D = 4 and COVER = 63, then BASIS = ?
A)40 B)60
C)30 D)50

gfe D = 4 3T COVER = 63 ¢, a BASIS = ?

A)40 B)60
C)30 D)50
Answer Key : D Your Response : D (Correct)

Question No. 91

Choose the figure that best represents the relationship among the
classes given below.
Keyboard, Monitor, Mouse, Scanner

TR R e Y SN ) SR S



C) D)

3W ARpfa W TAS wY, Al Aeaafaa St & @ o ogew @
afead &1 & fwiaa &ar &l
HEIE, Ay, ABH, FTheld

A) B)
<’/ o/
C) D)
Answer Key: D Your Response : D (Correct)

Question No. 92
With which of the following sports is Sania Mirza associated?
A)Swimming B)Boxing
C)Cricket D)Tennis

gifarar fAE sa8 9 fFg @9 ¥ gafaa §72

A)eRTehr B)HeFhalrolt
C)fshehc Dyefra
Answer Key : D Your Response : D (Correct)

Question No. 93
Which least number when divided by 12, 15, 20 and 54 leaves a remainder 8 in each case?
A)540 B)548
C)556 D)532

gg BT ¥ o g&Ir Arg fifew, 58 12, 15, 20 31T 54 O ufog & W 9 A% ATHS H 8
AT F=AT §?

A)540 B)548

C)556 D)532

Answer Key : B

nAanen_: R If‘nrrnht)
B T U N O TN, T S R O Q) W Y sy /



If 0.034 = x/10, find the value of 'X'.
A)34 B)3.4
C)340 D)0.34

Ife 0.034 = x/10 g, @ 'x' &7 #AT AT HIA0|

A)34 B)3.4
C)340 D)0.34
Answer Key: D Your Response : D (Correct)

Question No. 95
Weight of an object is directly proportional to its-
A) Specific heat capacity B)Mass
C)Translucency D)Magnetic power

& IFHALIA G

A)faRIse FsAr enidr B)aca AT
C) IR B)ECLIBNIET
Answer Key:B Your Response : B (Correct)

Question No. 96
'Drag' is the name given to frictional forces exerted by what?
A)Gel B)Fluids
C)Resins D)Chemicals

H ¥ Tordeh GaRT @MU ST aTel 90T el &l 'FI A GIAT 74T 82

A)Sier B)aad
C)fast D)@
Answer Key: B Your Response : Not Answered

Question No. 97
Which of the following is NOT a ozone depleting substance?
A)Methyl chloroform B)Halon
C)Sodium silicate D)Methyl bromide

farafaf@a & O 9 a1 g1y NNT IR J8 §7

A) RS FARTREA B)geieT
CyafsTH fafesre D)fRerser siArgs
Answer Key:C Your Response : Not Answered

Question No. 98
D, E, F are midpoints of the sides BC, CA, AB of a AABC. If area of AABC is 20 cm?, then find
area of the trapezium FBCE.
A)12 cm? B)10 cm?
C)15 cm? D)5 cm?

AABC #T g3t B ) _E_F 8l afe AABC &7 8%a 20 o @3l

K B et



C)15 &t i D)5 @& J#r

Answer Key: C Your Response : D (Wrong)

Question No. 99
Two varieties of tomatoes are bought in the ratio 2 : 3, where the price of first variety is twice that
of the second. The varieties are mixed and sold at Rs.17.50 per kg, resulting in a profit of 25%.
Find the costs of the two varieties before selling.
A)Rs.12, Rs.6 B)Rs.20, Rs.10
C)Rs.22, Rs.11 D)Rs.24, Rs.12

THTCT & o fhed 2:3 & Iquid # Tl AT §, S8l Ugell (A &1 AT qadl ¥ W=7 §har &l
gyt frear & AT far aar § 3R 378 %.17.50 via fFaEmd & o9 @ 997 Jar g, fods
IRUITAETET 25% T A1 §iar g1 99 & gl aIedl [hEAl &1 Hd Hed AT HIfag]

A)T.12, ©.6 B)%.20, %.10
C)%.22, 3.11 D)%.24, .12
Answer Key: B Your Response : Not Answered

Question No. 100
Find the largest number that will divide exactly the product of four consecutive integers.

A)12 B)6

C)8 D)24

Ig T3 ¥ T HEAT AT HIfoT, S AR HAWET Uil & JoTAwe I qoiaar Femfara s Top
A)12 B)6

C)8 D)24

Answer Key:D Your Response : D (Correct)

MY /
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